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Classifying Numbers and Basic Algebra Practice

Classifying #s: Every number that we will use in Algebra 2 can be classified by at least one of
the following types of numbers. Many numbers will be classified using several types.

Definition: Examples:
Natural #s C OB \MX noanpe s |, 2,3. ..
Whole#ts | voXusod pwoubels ond Zego O\, 2..
Integers \p\i\o\t V\\kw\\)d\s &,\MS» \J\Q%(_\k‘\\dt'a o -1|-\'0rtl 2.
. \ . N 4,%,,33,.75
Rational #s N\\—@Se,(\gj QM&\OV\‘D, VQPQ&HA.% ACLJM&\S
Irrational #s \’\OU\'VUPC&H'\S df.dd\f\f.\\sl ocL\.LMC. coots /\\" e, {Z.
Real #s R Hee ohoue j\
imaginary #s [WON - Ceo) nomloets, squise oot of 3c,id3, 240
u\e%oécwe, nuwbets =7
Real #s Imaginary #s
J-5
Riti?nalﬂs ;:, >
Integers -
I - e
Natural#s 3*2{,

2
25

100

Irrational #s\

A



Exomple 1... Classify each number (list all categories it falls in).

a. 13 b. % c.-4
NoXuze) Lokono x\f\\'ﬁs&(‘
W\nwo\ e Leo\ Lokiono)
T oke S&C Q 2o\
Q\Q_\'\ ool
Reol\
d.-0.3333 e.m f. 2i
Qead Qea "
Vocabulary:  _ ( c\’\o-'%t 6{3“5\

The O?{?Ob\ ‘e , or additive inverse, of any number “a” is: __ —

< \
The _Ceuptocod , or multiplicative inverse, of any number “a” is: _ 50

Cvo Foodn
Example 2... Find the opposite and reciprocal of each number. (Ve o

a.4: b. -0.002 c.-3
Opp~. -4 Opp: 0.00Z Opp- 4
Reuip: % \lwp -822- 500 Redp: -

Hg - % -,002= —75—08

Example 3... Evaluate the expressions.

a.(x-18)"—4x;x=6 b. k- (3k—-5n)+4n ;k=-landn=-2

(bo-1§Y - HL) (Y- (30 - 5¢- ) YHED)

D~ HW) | - -3v\0) -F

\HH -ZH

\-7-%
\?,O ‘_ {_o _ % = _,‘l—\

c. The expressionwmodels the percent of eligible voters who voted in presidential
elections from 1960 to 2000 (where y represents the number of years after 1960). Find the
approximate number of voters who voted in 1988. \{ 29 (]98- \%o\

- (D rL\
—BHAYLN = 52.L% ob yotets




Example 4... Simplify the expression.

a.4+(2+1)° b.4+3[4-2(6-3)]+2
Moy (3 Wy d[H-2(3Y ~2
4¢q Wty [H-L] =2
\3 Hrs[zl+2
Y- T
-3 = |
c. 2h =3k +7(2h - 3k) d. 5x° = 3x + x*
2h-3h b -ZIK byx™3x
\hh 24K

Example 5... Solve each equation.

a.2(y-4)+6=70 b. 6(t~2) = 2(3 - 20
Zy-FH =70 coe, \'L—\‘-Z th
Ty-Z=72 WOt A2 =\F,
7_/\4 = 7} \0 1'2 3.--5

Exarnple 6. .. Solve each formula for the indicated variable.

ARG bR); R b.S=2mrh ;

& 2%h

Zh= bl .

W= 225 7-/* - 2



